N of reco track vs dxy [N of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

2 F 2 2
8 s[ 3 8
E10°F S0tk =
E 2’1045 o
E 2 E 5]
E s S
10*F F 5
F . 10°F 310
10°F i
b 102
10°F E
b 10F
10F
3 N 1
- i
B 1 1 1 E. 1 1
2+ | DOM_mkFit_T1base
) = -
ottt el S o
0'—“25—20—15—10 -5 0 5 10 15 20 25 O'—‘25—20—15—10 -5 0 5 10 15 20 25 0'—“25—20—15—10 -5 0 5 10 15 20 25 -25-20-15-10-5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)
N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |
L F L L 2
[=} L [=} [=] [5)
g, g 8 s
T10%E o3 ol ©
E 2 & ]
F = £ S
F =
10° 1 3
; 102
10 102
[ 10
10 -
1-{ : : ; : 1 . . .
O*'V=I | IS NS NS W ° ot oL MTEE NS RS PR N e
. 51
T *#i”ﬂHHMﬂH#H 0.9 L A A 1
0.95! ] . . . | o . . . 0.9 . . 0.5 . . 1 . .
=30 -20 -10 O 0 20 30 =30 20 30 20 0 =30 -20 -10 0 10 20 30

track dz (cm) track dz (cm) track dz (cm) track dz (cm)



	Contents
	Page 1


